Manuals+ — User Manuals Simplified.

Tribesigns F1583 P1 Charles 5 Shelf Corner Shelf Bookcase
Instruction Manual

Home » Tribesigns » Tribesigns F1583 P1 Charles 5 Shelf Corner Shelf Bookcase Instruction Manual ™

Contents
1 Tribesigns F1583 P1 Charles 5 Shelf Corner Shelf
Bookcase
2 Product Information
3 Product Usage Instructions
4 ASSEMBLY INSTRUCTION FOR F1583 P1
5 ASSEMBLY INSTRUCTION FOR F1583 P2
6 ASSEMBLY INSTRUCTION FOR F1583 P2
7 ASSEMBLY INSTRUCTION FOR F1583 P5
8 ASSEMBLY INSTRUCTION FOR F1583 P6
9 Documents / Resources

9.1 References
10 Related Posts

Tiibesigns

Tribesigns F1583 P1 Charles 5 Shelf Corner Shelf Bookcase


https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/tribesigns
https://manuals.plus/tribesigns/f1583-p1-charles-5-shelf-corner-shelf-bookcase-manual.pdf

Product Information

The F15883 is a file cabinet from Tribesigns. It comes in six parts, namely P1, P2, P3, P4, P5, and P6. The
assembly instructions are provided for each part separately. The product has screws and parts that need to be
assembled carefully, and the user needs to avoid tightening the screws completely at first.

Product Usage Instructions

Assembly Instruction for F1583 P1
The assembly of F1583 P1 requires the following parts:

« 1 Shelf (T)

« 1 Piece of Part 6
o 1 Piece of Part 7
o 2 Pieces of Part 8
« 6 Pieces of Part A
« 1 Piece of Part B
e 26 Screws M7X50

Follow these steps to assemble F1583 P1

Attach Part 6 to the bottom of the Shelf (T) using two screws M7X50.

Attach Part 7 to the back of the Shelf (T) using two screws M7X50.

Attach two Pieces of Part 8 to the sides of the Shelf (T) using four screws M7X50.
Attach six Pieces of Part A to the Shelf (T) using six screws M7X50.

Attach one Piece of Part B to the top of the Shelf (T) using two screws M7X50.

Tighten all screws after all parts are put together.

o g~ 0 DD~

Assembly Instruction for F1583 P2
The assembly of F1583 P2 requires the following parts:



« 1 Piece of Part 1
« 1 Piece of Part 2
« 3 Pieces of Part 3
o 4 Pieces of Part B
« 12 Screws M7X50

Follow these steps to assemble F1583 P2:

1. Attach one Piece of Part 1 to one Piece of Part 2 using two screws M7X50.
2. Attach four Pieces of Part B to the corners of the assembly from Step 1 using eight screws M7X50.
3. Attach two Pieces of Part 3 to the assembly from Step 2 using four screws M7X50.

4. Tighten all screws after all parts are put together.

Assembly Instruction for F1583 P3
The assembly of F1583 P3 requires the following parts:

e 4 Pieces of Part A
e 4 Pieces of Part 4
« 1 Piece of Part 5
e 6 Screws M7X50

Follow these steps to assemble F1583 P3:

Attach four Pieces of Part A to four Pieces of Part 4 using four screws M7X50.
Attach the assembly from Step 1 to one Piece of Part 5 using two screws M7X50.
Attach two Pieces of Part 3 to the assembly from Step 2 using four screws M7X50.

Attach one Piece of Part B to the top of the assembly from Step 3 using two screws M7X50.

a > w0 D~

Tighten all screws after all parts are put together.

Assembly Instruction for F1583 P4
The assembly of F1583 P4 requires the following parts:

4 Pieces of Part A
4 Pieces of Part 8
1 Piece of Part B
8 Screws M7X50

Follow these steps to assemble F1583 P4:

1. Attach four Pieces of Part A to four Pieces of Part 8 using four screws M7X50.
2. Attach the assembly from Step 1 to one Piece of Part B using two screws M7X50.
3. Attach one Piece of Part 2 to the assembly from Step 2 using two screws M7X50.

4. Tighten all screws after all parts are put together.

Assembly Instruction for F1583 P5



The assembly of F1583 P5 requires the following parts:

o 2 Pieces of Part A
« 1 Piece of Part 9
o 4 Pieces of Part B
o 7 Screws M7X50

Follow these steps to assemble F1583 P5:

Attach two Pieces of Part A to one Piece of Part 9 using two screws M7X50.
Attach one Piece of Part 2 to the assembly from Step 1 using two screws M7X50.
Attach four Pieces of Part B to the corners of the assembly from Step 2 using four screws M7X50.

Attach one Piece of Part 7 to the center of the assembly from Step 3 using one screw M7X50.

a > Do~

Tighten all screws after all parts are put together.

Assembly Instruction for F1583 P6

The assembly of F1583 P6 requires the following parts:

+ 2 Pieces of Part Z

Follow these steps to assemble F1583 P6:

1. Attach two Pieces of Part Z together.

If you face any installation problems or damages caused by shipping, contact Tribesigns’ customer service at

support@tribesigns.com.

ASSEMBLY INSTRUCTION FOR F1583 P1

Tribesigns Shelf


https://manuals.plus/tribesigns/support@tribesigns.com

&

b

=

Notes: Don't tighten screws completely at first, just in case parts were assembled wrong and need disassemble.
Tighten screws at last when all parts are put together

o

1

;

A1 IS -

<>

1PCS 1PCS 2PCS 1PCS 1PCS
6 7 8 9
| s I
1PCS 1PCS 1PCS 1PCS
.'q. B Z

o 5-17;50 !@ S
6PCS 26PCS 9PCS Ve

ASSEMBLY INSTRUCTION FOR F1583 P2



Step 1

Step 3

ASSEMBLY INSTRUCTION FOR F1583 P2

.l%

0 4pcs

Step4

i,
Y
/Y

o
-l
= S
/f; " -
i .-
. -
P ——
e
- .
~ e
,-l.
A 1
<
- o ] .\.H‘"
] 1
»










ASSEMBLY INSTRUCTION FOR F1583 P5

. o |Step9 A
Al & 2pcs|”* -

91 ] |

B 4PCS Stepl(

.
.
- -
- - 2 [y,
rr - S e o
. = o =
(= A P TN,
= — — P .
_ -
1 PCS ~—
:I:.L
B - H-Lk_‘
7 S,
— --:-")
‘:[x_
- -
L~

ros
o
i
dl
o,

ASSEMBLY INSTRUCTION FOR F1583 P6

Stepl 1
2|71
2PCS|




Thanks for choosing Tribesigns File cabinets , your satisfaction is our priority. If you have any installation problems
or any damages caused by shipping, feel free to contact us at “ support@itribesigns.com®, our friendly customer
service will solve problem for you www.tribesigns.com

Documents / Resources

Tribesigns F1583 P1 Charles 5 Shelf Corner Shelf Bookcase [pdf] Instruction Manual
F1583 P1 Charles 5 Shelf Corner Shelf Bookcase, F1583 P1, Charles 5 Shelf Corner Shelf Boo
kcase, 5 Shelf Corner Shelf Bookcase, Corner Shelf Bookcase, Shelf Bookcase, Bookcase

References

« 7 Tribesigns - Designed for life, Built to last

Manuals+,


mailto:support@tribesigns.com
http://www.tribesigns.com
https://manuals.plus/m/c815aa83bebb49de3d0f62ec832ea1d36b9aa9fccf05b780f69a314abfec893b
https://manuals.plus/m/c815aa83bebb49de3d0f62ec832ea1d36b9aa9fccf05b780f69a314abfec893b_optim.pdf
http://www.tribesigns.com
https://manuals.plus/

	Tribesigns F1583 P1 Charles 5 Shelf Corner Shelf Bookcase Instruction Manual
	Tribesigns F1583 P1 Charles 5 Shelf Corner Shelf Bookcase
	Product Information
	Product Usage Instructions
	ASSEMBLY INSTRUCTION FOR F1583 P1
	ASSEMBLY INSTRUCTION FOR F1583 P2
	ASSEMBLY INSTRUCTION FOR F1583 P2
	ASSEMBLY INSTRUCTION FOR F1583 P5
	ASSEMBLY INSTRUCTION FOR F1583 P6
	Documents / Resources
	References



